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1. EEEROR
(1) fREINE «
BRI AR 1,800 1,800 0
B IR 1,800 1,800 0
BEE R 200 200 0
A RS 200 200 0
St 2,600,000 2,650,000 -50,000
£ETNAHE 2,600,000 2,650,000 50,000
BN 440,000 440,000 0
FHES I 240,000 240,000 0
SERBELEN 200,000 200,000 0
SEENES 5,991,800| 7,087,000 -1,095,200
SR RERYS 10,000 10,000 0
SIEERE 469,100| 1,468,800 -999,700
DL S 5,512,700| 5,608,200 -95,500
SHEEe 330,000 330,000 0
SHad 0 0 0
BE - HEBATREES 330,000 330,000 0
Y2 550, 100 1600, 100 ~50,000
ZEIR 100 100 0
IV 550,000 600,000 50,000
LEsinzst (A) ] 9,913,900 11,109,100] -1,195,200
(2) BHER
e 8,469,824  9,524,824| 1,055,000
BEHES R 20,000 22,000 2,000
BEEME 2,000 2,000 0
i Eid 18,000 20,000 ~2,000
FHEEEE 74,000 55,000/ 19,000
Bl 0 0 0
HERE 50,000 30,000 20,000
258 4,000 5,000 1,000
EHS 10,000 10,000 0
ENRISLA 2 5,000 5,000 0
BEEME 5,000 5,000 0
RO 518,000 560,000 42,000
arE 8,000 8,000 0




100,000

ENRIBY A 50,000 -50,000
BIEEE 200, 000 200,000 0
Eite 260,000 260,000 0
AR HEEL 150,000 440,000 -290, 000
ENRIS A 10,000 310,000 -300, 000
MERE 120,000 110,000 10,000
SEIN=tiE 20,000 20,000 0
BT EE 656,000 835,000 -179,000
MR 250,000 350,000 -100,000
SEIN=LiiE 200,000 200,000 0
REE 3RS 200, 000 280,000 ~80, 000
1Rk 6,000 5,000 1,000
taEHEE 880,000 , 280,000 ~400,000
2158 100,000 400,000 -300,000
EHe 300,000 300,000 0
MERE 250,000 300,000 -50,000
RERE 130,000 180,000 -50,000
HitE 100,000 100, 000 0
SEVESY 200, 000 550, 000 -350, 000
LETHE 200,000 550,000 ~350, 000
YRS , 430,000 ,376,000 54,000
ERA T EE A 90,000 90,000 0
= 405,000 360,000 45,000
EEERE 900,000 900,000 0
RER R 225,000 270,000 ~45,000
EEEmE 225,000 225,000 0
B |1, 124 |1, 124 0
MRS 450,000 270,000 180,000
ENRIEAE 270,000 315,000 ~45,000
=g 648,000 648,000 0
1RBk} 18,000 18,000 0
TRAE 2,700 2,700 0
EitE 0 0 0
) — 28} 216,000 216,000 0
S FHR 63,000 63,000 0
B 18,000 18,000 , 0
BB . 463,536 ,592,536 ~129,000
LB 450,000 450,000 0
FRNEE 0 ol 0
By SEE 270,000 264,000 6,000
SERA T B 10,000 10,000 0




BHELSE 45,000 40,000 5,000
EREHHE 100,000 100,000 0
IRE A 25,000 30,000 -5,000
EIEERE 25,000 25,000 0
e 1,236 1,236 0
SEFE R 50,000 30,000 20,000
RS | 30,000 35,000 ~5,000
=g 72,000 72,000 0
1RBRAL 2,000 2,000 0
TN 300 300 0
5%/ N=Fiako 300,000 450,000 -150,000
Eite 0 0 0
o ERE 50,000/ . 50,000 0
| — 2 24,000 24,000 0
S FHH 7,000 7,000 0
Mo 2,000 2,000 0
[@eEm:t B) ] 9,933,360 11,117,360| -1,184,000
[HERR SRR (A-B) ] -19,460 8,260 ~11,200
2. EEIMEROR
(1) BEIMNZS 0 0 0
€PN e | 0 0 0
(2) ®EHNER 0 0 0
(@Rt 0 0 0
[ER s M HEE] 0 0 0
U845 | B4 B — AR TERR B FE 1 4 ~19,460 -8,260 -11,200
EAFL, EERRUEER 0 0 0
[ B — R LE Ik B E HE R0 2 ) ~19,460 8,260 ~11,200
(AR IEHM EREED) 20,297,263 20,619,824 -322,56|
(AR IERR R ERR RS 20,592, 104 20,611,564 -19,460
I HEEERBMERROS
SHHES
SheRENES 5,512,700{ 5,608,200 ~95,500
—REIERBAEEN\ DIREEER ,
— R IEBRIEEN DR -5,512,700| -5,608,200 95,500
(4 HE T IR AR 0 0 0
UEE MM EREERS) 0 0 0
e BRI RIS ) 0 0 0
I EWMESERS 20,592, 104 20,611,564 -19,460




